











75
>y,
DO vx ,;?_'2/’ = XX
%7
% } Y —/Z =3 >/ ;\_;2/ \/
l)-(h_)-?;l - —i ) éx “&) T

- . N
V'E = 41 JD Vg =0
Smnd e%ua:éac)ﬂ* ienp/:es E = —{7)@_

’H\_QO \7?'_@' - L;TDD




..5:)/06 UJlfg 6@8!73 )(mo,}'zons
{;(’51" soluc 161‘ J-fu Soutce

V'QER) - —undiz- )

das FE) = jo/x Gczi)fg )

e Now S/a<9co

GE R - ‘1

| X=X}
(e |
V l;\__h{! = - L”TS(X—;ZV)
let T = Xx-3
2. l l g
\V '—r- = F‘;_é‘;_ C‘z (-(l—_) = O excep+ wLafo




Iokgra%c, Vz-(é- over Aa//fgrao’:us c=R

Iﬁ
[
{
~

(@o'!er‘co’ &N Oﬁgm

Jvz_('_ Fooo (@ T L)
Ja

———
<y
My
O

w
X
i
o
my
D>
Q.
9
M
—
@
X
L
-




/\765067[:6 ;[or’cs Aw t_‘:b= ngé’

2,

.,.+B
©oe AW ZI% ™
“~_ -
l } B - ﬁ
. sFa-H—
-' Y
- g

e

i
.




L7

Mueetostates T, G fme-indiparclond

Lan }Qn{r'a/ ) Cl/xcra_p, 5 Coaserved

3 > o
’JE + V :)- = O ot au; LG
L (4 / 1[& eE 405

Cffra\g/z tg (Zsorgp_ ,,[ {;ixrvotgl' DZ "4

| 3 N . A
ng@g +3) - 4o feiF o
S

\V4
STy
O

m mogna-}os-lcr)nc,s , 6

o)

= O




=

Ky

L"Tl' OOZ MCLQ,S Senase ‘(
o 300
< /cof) (v-I=O)

(2] = Sokooboubs /. T
b/ [T] = sk
Coubml:ss//?-
S/

= 3 H’&mps /CM'L




i

Y
™~
¥y
(e
1
4
x .
/’—‘\
O] -
L_/—’N
y | CHY
[
Y "3
o,
~

I X =X
= VXA = \V},m____o O-.r{'owc{’scc,u
d
'I&(;:) LTI s, -
C @ 2| Ax + V_U,
)(...
3(‘")‘@%&&@&‘







